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Feed Formulation Calculations 

3-  The third step is to list the ingredients which will be in the feed formulation at fixed levels 

and to calculate the contribution of each ingredient to the total desired levels of protein and 

digestible energy in the feed (Table.3). These values are then added, and the totals 

subtracted from the desired levels in the finished feed. In the example, the levels of soybean 

meal, poultry by-product meal, and vitamin and mineral supplements are fixed, while the 

levels of fish meal , wheat middlings, and fish oil in the formulation are variable. 

Table 3 

Feed (kg)      Protein (kg)               Digestible energy (kcal) 

   100             45.0                     400,000 (4000/kg feed) 
From Table 1 

100 – 22.7 = 77.3 

fixed 



4- The fourth step is to determine the appropriate levels of the various ingredients 

      in the formulation using simultaneous equations (Table 4).         

      The solution of the simultaneous equations yields the following:  

                        fish meal, 43.7 kg/100 kg feed;  

                        wheat middlings, 22.4 kg/100 kg feed;  

                        fish oil, 11.22 kg/100 kg feed.  
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Table 2 



Table 4 Feed Formulation Calculations 

Simultaneous 

Equations to 

Determine Levels 

of Wheat 

Middlings (WM), 

Fish Meal (FM), 

and Fish Oil (FO) 

Needed in 

Formulation 



5- The last step is to check the final feed levels of protein and        

    digestible energy to ensure that the desired levels are present   

    (Table 5). The levels of individual essential amino acids can       

    also be calculated at this point to make certain that the levels in 

    the feed meet or exceed the dietary requirements of the fish. 
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Table 5 Feed Formulation Calculations 

399،940 45 



Table  4 

 from Table  2 

 - 0.17FM+0.70FM=0.53

 - 0.17FO+0 FO=0.17



  205314.4/2818=72.858

7328/2818=2.6

  = 
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